English

The kingdom of books is as vast as the universe, for there is no corner of it which
they left unexplored. There is no dearth of books on any topic, be it as simple as the
composition of sodium nitrate or as intricate as the mechanism of a space craft
rocketing towards the Mars. We make use of books for the dissemination of useful
ideas, for popularising the fruits of our research on various fields of knowledge and
for spreading out progressive use on matters which are of vital concern to our
fellow beings. In fact, no single product of human labour has been as helpful to the
advancement of civilization as books which are written in all languages of the
world and which are decoratively placed in book shelves in our homes and tastefully

displayed in book stalls and libraries. For the modern lover of books, the labours of

all geniuses are mines of inestimable intellectualwealth.
1.  The kingdom of books is asvast as the universe is a:
(a) Metaphor QI) Simile

(¢) Personification (d) Alliteration

©)



| @ For gaining knowledge (b) For learning new things
| {(¢)/ For gaining useful ideas (d) All of the above
3.  Books are written H0) - +eememnrenenees the languages of the world.
(a) Someof (b) Fewof
p
() Most of (d) All

(a) Homes (b) Shops
(¢) Bookstallsand libraries (d) Schools
S 4

(@) Scarcity (b) Plenty

(c) Lenient (d) Benefit

6. The complex or carefully designed structure of something.

(a)  Aesthetics (b) Cascades
(¢) Amphitheatre @)/ Architecture
S-09(SET-A) @




2 Acrophobia

(a) fear of water (b) fear of heights
(c) fearof insects 2(d) fear of darkness
5. Ancedoteis (oo il
(a) A short amusing story (b) Moral of the story
(c) Climax of the story (d) Conclusion of the story

%.< The synonym of Obligation
'g)/ Disagreement (b) Freedom
(c¢) Order (d) Responsibility
7<10. The synonym of Transient
(a) Lc;ng lasting (b) Impermanent
(c) Perpetual (g)//'Etemal
134 The antonym of Durability
(@) Endurance (b) Permanence
(c) Operative (d) Unreliability
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/,/
J/fhe anionym of Obscene
(a) Decent (b) Dirty
(d) Crude

(c) Obstruct

13. He lost the match -ooooooeee ORI SSFJAMIA MILLIA ISLAMIA

(a) The (b) A
() An (d) None of the above
’ 14. She does not like to play e football.
(a) An (b) A
\(9‘ The (d) For
15. We all have been affected by «-oooeeeees current Covid 19 pandemic.
a A (b) An
(c) Most (g)/ The
16. The Doctor has given him oo piece of advice.
(@) The (b/ A
(c) An (d) From
17. He djstributed the chocolates - two girls.
a Between (b) Inbetween
(¢c) Among (d) For
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18 He has been sleeping 5 O clock,
(a) Since (b) From
(¢c) About () At

., the rain, we went oul,

1G9 it
a In case of (b) Instead of

(c) Inspite of (d) By meansof
50. Anu said that she had talked to him after lunch.

@)/ Anu says, "I will talk to you after lunch".

(b) Anusaid, "l talked to him after lunch".

(c) Anusaid, "I shall talk to you after lunch".

(d) Anu said, "I had to talk to you after lunch."

21. The minister orders, "the lockdown will continue until the situation is under

control." (into indirect speech) W

(a) The minister has ordered for the lockdown to continue
b) / The minister ordered that the lockdown would continue until the situation is
under control.
(¢)  The minister orders that the lockdown will continue until the situation is
under control.
(d) The minister had ordered that the lockdown will continue until the situation

was under control.

W(SET-A) (7




22.

24.

People spenk pinglish all over the world

/
/

() ' /]{ngli_uh has been spoken all

aver the wenid

(by /| English s spoken all over the world

; . : ) > p aALre 4 ey thie “Iﬂﬂ"d
(¢)y English is the most spoken Janguage all oV

(d)y English is preferred to be spoken around the world.

Dinner will be served at 8 o, clock by her.
(a) She will be serving dinner at 8 o' clock.
(b) They will serve dinner at 8 o' clock.

(¢ She will sreve dinner at 8 o' clock.
(d)  She would serve dinnerat 8'o clock.

She did not live many years in London. (Into affirmative sentence)

(a)  She lived for a short period in London.

(\I/She lived only a few years in London.

(¢c)  She has lived only for a while in London.

(d)  She had been living in London for a while.

T-A) 3)



- 25.  John loves to have coffee in winters, (Into Interrogntive sentence )
(a) What does John love to have in winters”
(b) Who loves coffee in winter?

(¢c) Do John loves to have coffee in winters”

@/goes John love to have coffee in winters?

Social Science

2/ st ety ok e o T Rl

(a) 5 June 1984 (b) 12 June 1985

(c) 2 December 1984 (dy 10 December 1984
W X GG LT oo # gl

(a) 591984 (b) 129 1985

(c) 2PRmmar 1984 (d) 10 REw=w 1984

-m,f.................,;wbg




}]./ The first step of investigation into crime 18:

28.

ishment
(a) Charge sheet (b) Punis

(c) Investigation @)/ FIR

Sqay &Y i 1 IEAT 9T &

ik (b) &
s e (d) THo HTEo RO

[ SRR A | P T Sl

L 22y (a)

NAMIAETRE) _ o

The Parliament in India consists of:
£a)/ The President, the Lok Sabha and theRajya Sabha
(b) The Lok Sabha and the Rajya Sabha

(¢) Lok Sabhaonly

(d) Prime Minister, Presidentand the Rajya Sabha
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29.

(@ v W, sl ol o wn

wits
71;-&' £ et &“3-1‘\,\?—‘&&0
wabmgiiuae (8
Q‘“ﬂmlwhﬂ )

BTl oo ©

bl kh (@

Who is the Final interpretor of the Constitution?

(a) President Q)/ Supreme Court
(c) High Court (d) Parliament
R @ SR e A b




30. Democracy means:
(@) Rule of Ministers )/ Rale of people
(¢) Rule of speaker (d) Rule of king
b
(a) =Pl B wE (b) RN W W
(©) e w A (@) T BN ;T
-.4.’:(;' Ceci”
=217 (b) =# s (2)
e Pt (d) P55 ()
31. Which of the following is not a Fundamental Right ?
(@) Right to Equality (b) Cultural and Educational Right
N/ Right to Property (d) Right to constitutional Remedies
1 F & @ difoes st - 27
(a) HHFGT & SAfHR (b) wiegfas I e aftmmr
(c) Haftw &1 sfermr (d) wAenfre STER # Aftmr

S-09(SET-A) (12)



e TS ie LS sasr

FEHTE (b) FE=tsl- (2
TEewE 7 (d) Feue (©

32. Osaka in Japan and Mumbai in India are two densly populated areas. What is the

e T

(a) TopographicallyFavourable
(b) Religious Significance
(c) Excelent climaticconditions
(-@)/ Industrial belts providing large employment opportunities.
mimmm#w:}wmmﬂaﬂtlmmmt?
(a) wEAFHAD ] IR
(b) offe wE=
(c) TP T@Ag feafar

(d) Qm«memmmmmw

- S-09(SET-A) 3




% =y kb el
mutLth,d,gTw%,J’Juv,m,,lf PIAT)

/(JV{/)’JQ'/?' ()
_:.,{11‘_51; (b)
(c)

?ek(e’JJ

S8F JAMIA MILLIA ISLAMIA
= by 113 04

-ct/f'/.é’fc—‘/.éjb’b/.‘/k‘?y (d)

33. The largest Producer of coffee is: ‘)/{
(a) China b razil

(c) India (d) America
FE HT GAX TG TARH &
(a) oH (b) WAt
(c) WA (d) AR
PR LT {11
Jiz (b) D
g, (d) Ubssr (o)

Jj. Which of the following is not in favour of the conservation of nature?
(a) dispose poly packs after shopping
(b) close the tap immediately afterusing

(c) switch of the bulb whennot in use

(QJ None of the above



35.

ﬁﬂqamqﬁfeﬁm%wifﬁf%?
gherft & g dteft 3% #r Froem
SqArT FH B ATE 29 B TG qZ HAT

(2)
(b)

(©)
@

gqanT & 9 B U7 9ed W 45 HAl

e J./J: s, 2 B;L;«)’QJQ:— u’-'uti.?/,«?

t/,éub/u’g'd;piédﬂg]' (a)
eermamun s IR
jew Dalh ek byl st (o)

Which is a popular ecofriendly automobile fuel?

@/ CNG (b) LPG

() Petrolium (d) Diesel
e % o @ T e e o B
(a) . . S (b) uw. 4. .
() Sferaw (d) Fom
S Lud el L firdT
-&-Q-J_t (b) LBy @
Jzs (@ Ak ©

S-09(SET-4) 15)



s T’w who designed New Delhi was:

.L"/w Lutyens (b) Le Corbusier

© George Wittet (d) Edwin Max Well Fry

, X xf foet ® f6m i 3 sem Ao fea

P} @) wwnd wfedn (b) . s

ﬂp‘ © wd @ (&) e e b

sor s snin IEREECRE NG
| 2HAS (D) Sk @
p?

di) Kl (@ wild (O




V()jg ................. bd}y)ﬁ)ﬂ
Fol (a)

(subsidiaryAlliance)#13 (®) r
_../g,p,‘)‘/ (c)

JAsTAP (D

40. Tipu Sultan died in the oo :
(a)  First War

(c) Second War

i B R ¥

() WO & (b) HT I

(c) TEUI& (d) T I&

ST Ju’&n(uwyf
Lz © L
Ly A (D L ()
41. The Festival of flowers is called:

() Idgsh (b) Khangah

\(9/ Gulfroshan (d) Dargah

Gl @1 IER HET rar |

O SRS ©) @

(6) * JeTY o (@) womE @

- S-09(SET-A) s,




e (b) !(o(}_{" (a)
o (d) ‘_-;uwf (c)

)
| sWwood" Dispatch was an educational policy introduced in:

tl.

e

(8 1835 (b) 1856
we— 1854 (d) 1857
750 AT T A AR ot BRY v § g far mar )
(a) 1835 (b) 1856
(c) 1854 (d) 1857

-gy:-j/w‘): .................. &‘J‘fgkd:‘uz'{‘t}:;dﬁ”
1856 (b) 1835 (a)
1857 (d) 1854 (c)

43. Begum Rokeya Sakhawat Hossain started schools for Muslim girls in:

(a) Patna and Calcutta (b) Bhopal and Aligarh
() Bhopal and Lucknow (d)/Delhi and Kanpur

(19)




)% (b)
ks (@ s Tl ()

44. Kesari and Maratha News Paper was started by: W

(a) LalaLajpat Roy (b) Mahatma Gandhi

(c) Dr. Rajendra Prashad g)/gal Gangadhar Tilak
A AR 7T TEAR 9 fHeR e e

(a) T WoYT (b) wETHT R

(c) Sfo W= yaR (d) o9 TR e

LUPL S pms

) L2y (a)
Eptl) (@) sleg B2 (o)
S-09(SET-A) (20)




cendbiji gave slogan “Do and Die" during:
Nl Khilafat Movement (b) Chauri Chaura Incident
(@ Quitindia Movement (d) Civil Disobedient Movement
4 3w W ST R S | AT # wwg Bar
@ R e (b) =t
(¢ W BIg JAEET (d) afa s e
W T POV s—— . /J(", s Y7 4
 Swgss ® Sy SIS
L78Adr (@ LA (o)

Mathematics
Another term used for "Reciprocal” of a number is:

(a) Additive inverse multiplicative inverse

(¢) negative of a number (d) none of these
% e % wesd @ g gEu v war g b

(@) @ (b) o wftve
(©)  ww Hew B AWE (@ vt & et




47.

48.

49.

tional number-

1 ra
: , wo given
. rational numbers lie between any ! &

(a) two (b) on€
a
(¢c) / Countless (d) Countable
C ) :
' %
;’ﬁ & é 2 aftdg demEt & A9 ofrira dE@aTd
(a) @ (b) TP
(c) AT (d) ﬂﬁr-ﬂ'ﬂ'- : é{d)é’(
SSF JAMIA MILLIA ISLAMIA uzwu"’tuwﬁwgf&
| ', \'x )
£ (b) \\i\\ » (a
\K‘“X e (c)
JiL o> (d) W ,
X
: " N .
Solve: 8x =20 + ?xw \\’V : o &
(b\’f(" - \ ’ *" Q@
B !5"3"{- S}Mi’ Nh"r”k "” ()7@%/
n (B(B’W ’(@'%@0 -Z.Q:J
@y 4 ) -4 QL™ | o
rk",
0.5+ d) -2

The sum of three consecutive multiplesof 11 is 363 then multiples will be:

af% 11 & €9 TR et F deT 363 ¥, @t o 8-
& b3 3638 MKt 0L 1

(@ 117,121,125 (b) A10, 121, 132
(c) 110,99,154 (d) 154,88,121

S-09(SET-A) @2)
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when the highest power of thevariable appearing in the expresson is 1, then it.

S0.

may be a linear expression

(a)

(b) may not be a linear expression
/

/
\(y is a linear expression SSF JAMIA MILLIA ISLAMIA

(d) may or may not be a linear expression.
79 SoE ¥ TANT BN 9 ©X B Siferhaw O 1 8, 99
() U@ &N o B Gl |
(b) TH T &HATE e & qhal |
) TFW@g AqTS 8|
) T YE s & wHAT & AT G 8 qeha |
FeledSte e §Pn s Se N
e el (2
Fndledp Sl )
el (©
e Frepfli @

23)




52.

{ warar FEHT B
:u.‘,,ljjG'u&)c.—o:_t.)u-’-,:’).fﬁ'-‘/l"vg

’ " &N S8F JAMIA MILLIA ISLAMIA
w/i

ne of these Eakl F Fg )

(c) O
A parallelogram whose all sides are equal, is called:

(a) square (b)| rhombus

(c) rectangle d)/ rhombus and square

TR T Rrad @l et awa ¥, Fer o &
@) @t (b) 9 TGHA
() (d) TEEEES ST 7
:c‘-rtgwuz‘:ucw&'uffcumwmp
7> (b) &,y (a)
8 (@ B o)

@ Pictograph is a :

(a) pictorial representation of data.
(b) representation of data using bars

(c) pictorial representation of data using bar

(d) none of these

5-09(SET-A) (24)
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54.

R eripuhedS
@ T
;9._5’/6{’;’
W AN /K JEsI ) (2)

AS st nZ S IRl (B)
,u;ud_/,»"scnﬁ»wz_n.a/‘)wr_;wg (c)

«fj&f:—‘.ﬂul (d)

Outcomes of an experiment are equally likely if each has the oo .. chance of

occuring:

(a) different (b) Same
c) ame or different (d) Zero

mmﬁqﬂvmmmﬁammmmﬁt,mmaﬁ%m

(a) m-:m (b) 904
(c) aTET AT HeAT-HAAT (d) TH
i ug,;r;,féuuﬁ%zz.némd,vé;éeif
2z (b) g (a)
» (D) ddnae (©

S-09(SET-A) (25)




55. 1f(66667) = 4444488889 then (666667)

afe (66667)° = 4444488889 T« (666667)
(666667)" = _./(66667)2 =4444488889/7
(a) 444444888889 ) /44444888889
(c) 4444444883889 (d) 444443888889
@qaure root is the inverse operationof:
| (2) Square YM/ o
(c) Cube ‘\(y /
=t g wioar afear 2- \ .
e b) @&
() =7 @ =
= JUPE i
25 &/ (a)
i (d)
57.  The Square of -9 is: o (c\vo‘ - ©
-9 FH & QC\\
@/ 8l e «Cr€ -9
e (d -18

S-09(SET-A) o
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59.

61.

one of the following is not a perfect cube?

Which

S AN S s
(a) 1 @9
) 8 (d) 27 \/\/\’\

4"\ |

The number of digits in the cube root of a 6-digit number is: ‘7
>
63wl P G F 9T F Fwf F gear ¥-
- )'JJUVRJJLJJ‘LUYH6

i e

)/ 4 d 6

Geeta saves Rs 400 from her salary. If this is 10% of her salary, then her salary is:
Mer J9 AT § To 400 FEART &, PR FE IaT F 10% B, ¥ IAHT FqA M-
Sl F S 10%60 7 Ne Qe s,a00n FE16L

ST means 24 \
ST =1 anef &-
‘e ¥ ST
(8)  Seller Tax @/Qw Tax
(¢©)  Sold Tax (d) none of these (37 & #iE 780




244
: iacnta J43X° +AX
62. The Constant term in the expression 18 3

AT 345x> +4x ¥ arar ug ¥
kLIS N

3,5,4 (b)) 3,5 \o\

G’ \»

©) 43 @ 3 ’K }}’)‘
"

63. On subtracting (a - b) from (a A b) , we get

x \
U ¢
(@=8) 5 (a+5) 2 qert e !
(i (o) (@)
Ji)/a +2b (b) 2a
¢} 2b (d) 2a-2b
64. Give expression for "S times of y to which 3 is added":

¥ % o 73 4 o 3 et o #, @ @ gem-

st T3 atLss Y
O g 10 (*Q/Syﬂ
5
@y e
S-09(SET-A) -

Ar ol ““;ﬂ
Cical Al



A ) e
( t\ . ((‘\' o P

\ J\ !
c}\"ﬂt‘ "" ,(“l")"
W " ' ‘ / X ) 2
65 I p= 8 and xy =12 then the value of x° 4 y~ 18
X , :
apre =8 ae W12 qq a0 byt w A ¥
wadd B4y g w=12 y2-y=8
& (n) 40 (b) 88
(\') on (d) 80
66, LSA is used for
LSA &1 wer ear @
" sor s s~ [PHSTERE
(n) Lower Surface area Wral Surface area.
(b)  Lowest Surface area 09 (d) Lesser Surface area
3
A v’
Y= Ny
67, Im » 3
@ 10000cm’ (b) 100000 cm
”
3
(¢) ,/(QOQDOQ cm’ (d) 100cm
A o
67
68, The valueof (=1)" =
67
(=1)"" wr e @
67
e =d (-1)
8 -1 (b) 1
(¢) 67 (d) =67

S-09(SET-A) (29)




@ 12 () 3 *ﬁx
WA
© -12 ; )(Co x@
~N~ A
70. Factorsof X +xy+8x+8y is: d\&

X2 +xy+8x+8y & orETs ¥
-_utd/'az_ngsz +xy+81 +8y

(a) (x+y) (y+8) \(ty/(x-#y) (x+8)

(c) (x+) (8+) () (x+y) (8x)

@ If the X-coordinate of a point is negative, then it will lie in the: ()

(a) IQuadrant (b) 1or Il Quadrant
MQuadram (d) Morlll Quadrant -~ ™ _ ;
Fr o fag @ X -Frwis e § 7 98 - /7
(@) I qufa () 1 ar 1 ety
(€) 1 qgufs (d) 1 g T gy
| SSTIAMIARILA UNIA  REERARIN S S - N/
' garg1 (v Al (o)

Pkl
gomLu (d) e

5




.11 a2l,2 L é (& -
D = e 47
e G oy L KQ/‘) 2!
R S 5
y 5 = - 7 \ ’\,
2 ‘6+—§)+i— o e _asa—36
4+ 11 3 S a b
Ll (”) (21 o g AxL. SRS
¢ 08 /q 9
/2,
@~ 462 . (b) 462
' WSh,
-95 s R 95
© 462 ’\4 ) 465
7 x S R is a line segment connecting two non-consecutive verticesof a polygon.
(a) side Mgonal
(c) Extreme most edge (d) diameter
Rt TGS B e Sud frdi @ St @ ST ¥ W Y@ gvs B &
(2) s (b) oo
(©) faegw sl R (4)
m :q.t’lﬁfg)ybd;(}:x_‘/.d%g‘-_ L?'é.; 1N I
7 (b) LU.‘JI (a)
H(d) Djb(dﬁl:ébf’ (c)
\\
74. / ------------------ give the number of times that a particular entry occurs.
Class interval (b) Frequency
(¢) Lower limit (d) Upper limit
S-09(SET-A) 31)
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----------------- ae won aufd & Rl a9 gw efafte orwst § ot ¥

(1) wf s (D) qrearean
(€) vy wf dr (d) geer et
R t‘o.’c?hé.bilbf’l.'-dr’,",'d.éb‘f:.::_ t‘/’,;:l.l;:’;,u‘Jl arernesaaaass
w (b) .i;’JlK (a)
LRI (D) w2 (o)
75/2/120() = L t"L
l 3 /’/“ .’ \ L)
‘ 736 g 3
(a) 26 (b) 5 J(b S
0
() 34 (d) 43 \ /‘}\
\
Science

76, Separation of grains and chaff is done by :

(a)  Winnowing (h) /Threshing

(¢) Fallow (d) Harvesting

araror iR @ w1 geasr e awrr fear orar -

(a) e (Rsgn) (b) afdir

(¢) wwelt (d) werg

W S bW /3L O vhig b

54 (b) (e (2
de (@ A (©

S-09(SET-A) (32)



hich organism causes AIDS?

KW

(a) A Protozas (H) | A Bacteria
(C) A Virus (d) An Algae
Ayear od T BT HIOT T=ar ¥7?
(@) Ao (b) AgAfa (o)
) =g (d) Dam
BT ] - U e
.‘:/‘g (b) Tu‘;';c (a)
u”q (d) S ©)
78. Muscular force is also called as - force.
(a)/ Contact Force (b) Frictional Force
(c) Non Contact Force (d) Electrostatic Force
Ieftg s e I qq W Fea & |
(a) 9B T (b) wdvr ¥
(c) JETDH T (d) Rt Agm =@
L 7, P — S 3 B’
.:a;"?j (b) =il (a)
=00 (@D =ibuig (o)
' Vaccines are made up of:
| (a) Drugs d Weak or Dead micro organism

(c¢) Viruses (d) Chemicals

S-09(SET-A) (33)
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(0) et (Phiups) (Vi) e w1 ot spaer A
(¢) T ()t
| /? Lo ¥ & =~ fé:
“?lj,."b’t"/'&")‘ (1) (¥l (a)
St () JM (o)
B8O, Anexample of Fossil Fuel s
(a)  Animal waste (hy)y  Wonnd
«{°) / Coal (d)y Al of these
ofvegn des wr um gaimoen B
(a) wgr smigrse () wmd)
(c) COELT (d) iy
| SOTIAMIAMILIA ISLAIA [ R e T VN
g4 (b Sl (a)
g (D M ()
/@ Name the scientist who discovered fermentation in year 1457,
(a) Louis Pasteur (b)/ Alexander Fleming
(¢)  Hdward Jenner (d) Robert Hook

od Aenfoe @ o wegy Orad ad e F favasy oY o oy oy
(a) ga iy (b) wmmder wifein
(c) wusmd dbre (d) waé mm

S-09(SET-A) (34)



82.

83.

‘1 .';:‘ 23 -:;. ~ . ! 5 2 N
WLl 2R T Lo P gt U

“ . i
ut'c .’,“& ) ]
s A1 (b) ,t&u'o’ (n)
bzl (d) wibnk (o)

Which type of cell in the eye is sensitive to dim light?

(a) Conescells () Rods cells
(©) Retina (d) Ciliary muscle
st & R T A R ey @ whr s gl b
(a) sim =R (b) s @
(c) W (d) fefrory wiasf
S Ln gL SR LSS T
EWE (b &y W
A (d) e (0

Which of the following fibresis used for making Parachutes?

(a) Steel (b) Terelyne

Mlon (d) Plastic

Py # & Reg X @1 v duge W & Ry R o #2
(b) e

(d) wnfEs

(a) ¥
(c) wifg@l=

S-09(SET-A) 3%)




84.

85.

j L% & e - ‘J_. 320 4A
fe ey S Lt P 2 I

e R

tﬁ:; :; urt ()
Which portion of eye gives it its distinctive colour?
\c%is (b) Pupil
(c) Cornea (d) Optivenerve
it FT FYTET T T 9T Af v v 87
(@) RefRET (b) gt
(c) @@= HsA (d) weIrE T
| SSTIAMANRUA SAMIA RV AP SRR
& W
Ml (d) 37 (@
Oxides of non metals are:
(a) Neutral ). Baiit
(. A% (d) None of these
STETgHt B SAfaares B ¥
g (b) sl
(c) oy

(@) = of 7

09(SET-A) ik
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. gLt (b) Wt @
IS (W i @
(86. )/ The brightest starin the sky is:
(%) Sirius (b) Cassiopeia
(¢) Orion (@ Sun
HHTYT W T THDBIAT AR
(a) wiRww (b) BT
(c) M d) q&
e ot e
L (b) s (@
sy (d) Uz (e)
87. In today's world, where water is scarce resource, which ‘among the following
irrigation methods is most feasible and sustainable?
(a) Sprinkler system (b) Chain pump
(c) Tube well (d,)/6rip system
s 2y g & et R o g s ¥, P & § S Rk B
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’ g8.  Purest form of carbon is:
(a) Coal (b) Charcoal
(¢) Coke (d) All of these
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89. Wood Pulp is used for preparation of:
(a) Polyster (b) ';eﬂon

(¢) Nylon Mﬂym
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90. PCRA stadns for:

(a) Public Conservations Research Association

‘(\b/) Petroleum Conservation Research Association

(¢) Public Council of Research Association

(d) Partial Counging of remaining Amendment
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91. The loudness of sound depends on:

(a) Frequency (ty Amplitude
(¢) Speed (d) Energy
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92.  The suspended particles released by combustion of coal in air may lead to:
(a) Goitre (b) Arthritis
‘J Asthma (d) Bone Cancer
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93. The middle zone of a candle flame is called the zone of:
(a) Spontaneous (b) Rapid
(c)/ Partial (d) Complete
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Choose the correct statement:

(i) Ribosome are located on the chromosomes.
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(11) Cell is located in the nucleus. W
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(iii) Chloroplasts are located in the nucleolus.
(iv) Cell membrane surrounds the cell.
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95. When two forces act in opposite directions, then net force acting on it is the:

(@) Sum of two forces (b)~ Difference between two forces

(c) Both of these (d) None of these
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96.  Coloured organ cells which are found in plants only are:
(a) Chlorophyll Plastids
(c¢) Vacuoles (d) WBC
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97. Sound is a type of:
(a) Energy (b) Work
(c) Force (d) Pressure
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08. Cell was discovered by:
(a) Robert Brown Q))/Robert Hooke
(c) John Mandel (d) Charles Darwin
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00 ONG and LPG are the exmaples of:
(8) Solid Fuels (b) Liquid Fuels
(&) Gaseous Fuels (d) They are not fuels
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100. Distilled or Pure water is:
(a)  Good conductor Q)/’oor conductor
(c¢) Both(a)and (b) (d) None of these
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